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Section : General English

Q1 Select the most appropriate synonym of the given word:

HIGH

Ans X 1 Low
# 2 Short
/< 3. Flat
v 4 Elevated

Question ID : 402817204
Status : Answered
Chosen Option : 4

- -

Q2 Select the most appropriate synonym of the given word:

Robber

Ans  of 1. Thief
& 2. Fraud
/< 3. Miser
/< 4. Friend

Question ID : 402817202
Status : Answered
Chosen Option : 1

Q3 Fill in the blanks with the most appropriate option.

Sheis  girl who believes that her motheris  angel from heaven.
Ans of 1 a;an

K2 aa

/< 3. an; the

X 4 an:a

Question ID : 402817205
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Status : Answered
Chosen Option : 1

Q4 Fill in the blank with the most appropriate option.

“Are you taking me with 7 il asked me.
Ans  of 1. you; she

/< 2. him; her

/< 3. this; that

X 4. we; they

Question ID : 402817201
Status : Answered
Chosen Option : 1

Q5 From the options, select the noun that is in the plural form.
Ans 3 1. Tongs

o 2 Levers

& 3. Scissors

< 4. Physics

Question ID : 402817203
Status : Answered
Chosen Option : 2

Section : General Awareness

Q1 v wgET & Jo0E & 70 F g 9w 11 BE, e 13 R d@k 0w & ow R F wmige &
sitwa @@ AT 750, 818 3 1040 o) 9¥ 7 & v smiget @ sitea wew w32

Ans X 1. 711
X2 926
X 3. 845
v 4 844

Question ID : 402817223
Status : Answered
Chosen Option : 4

Q.2 S 2019 # W Uo7 & AEEHEd F w9 e 7 1100 703 794 A e e gt &
semes vd Remsars T

Ans of | yifaer
K2 3T g
X 3 ofgm S9me
X 4 FERISE
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Question ID : 402817208
Status : Answered
Chosen Option : 1

Q.3 = e it tF TR FEneR F EE (fFEw) T9 W FE 8% HR 12% fr g & F A
e {ET 14,720 AR 321,120 @ Ser ¥ A arEw A st F g 6T 5T W 10% ;N oge
AT B, & MEw F IHF AT F AG @ a1 S A hae 87

Ans X 1. 3200
X 2 7150
V'3 7160
X 4 7180

Question ID : 402817225
Status : Answered
Chosen Option : 3

% 5v72,2v8,4V3,3V5 ¥ ¥ me@ & g 2l
Ans !1_ 2‘\!@

X2 443

<3 345

X 4 542

Question ID : 402817221
Status : Answered
Chosen Option : 4

Q.5 v e F v AW T FEf A9 W 200 F A AT B §, S oFAw 5% IR 10% Fmw F AR
TF 10% o R AF ¥9ar ¢ 3R 5% Fr @ |G T 7, aF 3HF e B0 FH F A 8 ()
T AR (i) AF & FIE 7 A

Ans o4 (i) ¥750; (i) T1500
X 2 (i) T1500; (i) T750
V 3 (i) T1000; (i) T2000

X 4 (i) T2000; (i) 1000

Question ID : 402817230
Status : Answered
Chosen Option : 1

Q.6 Choose the term from the given options which is different from the other three.
Ans X 1. IN

X 2 NT

X3 FZ

v 4 SG

Question ID : 402817217
Status : Answered
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l Chosen Option : 4

O RAfrear T FAF (BT W ARMRS) FY e T 872
SV

X2 gren wifde

X s 3ET

R )

Question ID : 402817209
Status : Answered
Chosen Option : 3

Q8 i Fivw (Soag) TRadw F BT F7ae S W REew 1997 # grany e 7w 9 38 &
FT ATH TART, TE 5H TSHA T FEART e M A

Ans o 1. afErOT FfET
X2 fm
X 3 gEmfnr

4 FTOTT

Question ID : 402817213
Status : Answered
Chosen Option : 4

QY9 off EARTH FI T FZ F TTH 4 % ~ + x, @ Aar &, DELHI T THF FT F T H $ # & x
= for@r ST E, & AHEAD' ¥ TR #E Far gem?

Ans K 1x % #+8
X2%x#%&
V3% x# %S
X4 %# %% %

Question ID : 402817220
Status : Answered
Chosen Option : 3

Q1 gy 7.35 o= UF FH, O AT A, B # C vF TR T F A AR e ¥ AR v we
0 wmr6 83k 12 e & o o= ¥ () Yoo Rig = ¥ B w0 B 2 B9 (i) B @ a%
e TRt weTaT 27

Ans oC 1. (i) STE: 7.50 (i) 4 T
X2 (i) oI 8.03 (i) 2 T
Vo (i) ST 7.59 (i) 3 TR
X4 () 9T 7.57 (i) 4 9

Question ID : 402817228
Status : Answered
Chosen Option : 3
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Q.1 v geaars & 12 gt 3k 7 oo & 7E2 ¥ 150 @ Farv| Dt & e @ F gfeew e 2
1

Ans x 1. 859%,
X 2 70%
X 3 90%
v 4 80%

Question ID : 402817224
Status : Answered
Chosen Option : 4

Q.1 30 #rex 7% 3t 20 #er = v oF F ofEmT F Ty 3ET #T 1 UF Ae 91 v F G
2 Sy s 41 af drde a7 1 T, RS ST 2260 9RY 9T ¥, 9w ¥ 4 92 &9 F B w=ws ¥ A
grieE oy ¥ T & R sTww @ & ang 7 fifew

Ans X 1. 6,860
X 2 35,730
V'3 36,240
2 4 %6,420

Question ID : 402817229
Status : Answered
Chosen Option : 3

Q.1 o gd=T F AR FEFE (TF) F BT T3l 2019 F S 7 TuUEEA F T F a9y
3 &

Ans 5 1 iterr
v 2 Frao
X 5 gET
X 4 grErar

Question ID : 402817212
Status : Answered
Chosen Option : 1

Q.1 Select the option that is related to the third Problem figure in the same way as the second Problem figure is related to the
4  first Problem figure.

Problem figures

O]
|:|OO

Answer figures

A

[A]

1

Ans X1_ 4

> <]
IQl>|>

&4

3 4

-

=[©)

N‘E@
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X2 2
X3 1
Vi3

Question ID : 402817216
Status : Answered
Chosen Option : 4

Q5-1 "HHTSEE" U W ARG WU # TE AT & [ @Y & g9gd SISt T4 o9r?

Ans o1 303
X2 403
v 3 42%
X 4 50T

Question ID : 402817211
Status : Answered
Chosen Option : 3

%! In which Indian state are the Bugyals found?
Ans - X 1. Sikkim

2 Uttarakhand

# 3. Tamil Nadu

# 4. Himachal Pradesh

Question ID : 402817207
Status : Answered
Chosen Option : 4

Q1 Pt Qaw Fa 12 B # 90 T T P e 20 RF # @ W A ) w1 S W
7 #3%a Q 71 e Be e

A X118 =T
X215 &=
X3 25 R
v+ 30 &

Question ID : 402817222
Status : Answered
Chosen Option : 4

Q.1 If ‘PUNE’ is coded as *1161322°, *“DELHI" is coded as ‘2322151918, then what will be the code for ‘MUMBAI'?
8

Ans  of 1. 14614252618
X 214611425018
X 3 15615252618
X 4 14614252617
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Question ID : 402817219
Status : Answered
Chosen Option : 1

Y steefaT e F 2019 Afenst F vwe aw ws shar 2
Ans X1ﬂ§rﬁaa’m

X2 g BReww

<3 Afawy Fim

v 4 T AT

Question ID : 402817210
Status : Answered
Chosen Option : 4

Q.2 s Fr T umwfr w9 Ffew, 7 e NS Fw @ T F 9 10% F o Ty e w
0 230,250 & e 1

Ans X 1. 326,400
v 2 325,000
2 s 28,500
2 4 322,000

Question ID : 402817227
Status : Answered
Chosen Option : 2

Q1-2 37 freT & 999 T o 99 9T ¥ 8% 36 e FEh & O R @@ 9T e g & §ET &
7422 B 7
Ans ('1, 30
X2 31
<3 32
<4 33

Question ID : 402817215
Status : Answered
Chosen Option : 1

% YeTETE T FT HEAE FiT A2
XK g T Fae A 3o
X 2. STAAS Fell Fdd A
X 3. gl ol
v TEFERE Tl Fga AT

Free Downloaded From - www.exammix.com



Visit - www.exammix.com & Download : All Shift Previous Question Papers (Hindi & English)

Question ID : 402817206
Status : Answered
Chosen Option : 2

Q2 A DHFRAFRTE CEFNTEETAFT I W DIRBaAEIF, BHE AT B
3 AvFmEew

Ans X1,
=R AR AW FHU g/ T2 ARY AGY FHY q75A
Xz.q;.ﬁ’
V' S e
K4 ar

Question ID : 402817218
Status : Answered
Chosen Option : 3

Q.2 Select the option that is related to the third term in the same way as the second term is related to the first term.
4
RESPECT : SERPTCE :: COURAGE : ?

Ans 5 1. UCORAGE
X 2. DPVRBHF
/< 3. DQTRGEA
v 4 UOCREGA

Question ID : 402817214
Status : Answered
Chosen Option : 4

Q.2 v FREE & FHF F AT FHARE F FE FET 1800 o 79 AR Ao FEET Hr FE G

° FHaal & g ¥ FAw A AR A ¥ aRer sl 2 qew sl ik D ogeew
FAAR T A Awd  FEeged @ v AW S FHAE B FE G 9| s

Ans X 1. 1360
v 21420
X 31240
X 41170

Question ID : 402817226
Status : Answered
Chosen Option : 2

Section : Computer Literacy
Q.1 The operating system is a set of system programs that provides a number of facilities to a user to allow the use of a
computer. Which of the below listed facilities are provided by the operating system?
i) Program to control input/output devices
i) Program to manage user files
iii) Allocation of a resource of a computer

iv)  Program to select appropriate translators requested

Ans  of 1.4, i, iii only
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/< 2. i iii, iv only
X 3. i, ii, iv only
X 4. ii, iii, iv only

Question ID : 402817235
Status : Answered
Chosen Option : 2

*? frrafaf@a MS-Excel (THTH Tode) G T AT T 372

=COUNT(1>2>3, 2, 0)
Ans 13

X2 1

X35

<40

Question ID : 402817231
Status : Answered
Chosen Option : 1

@3 YWhich of the following is not a valid function in MS Excel?
Ans X1 COUNT()

X 2. COUNTA()

v 3. SUBTRACT()

X< 4. SUM()

Question ID : 402817233
Status : Answered
Chosen Option : 2

Q4 WWhich device is also called as WORM?
Ans o 1. Compact Disk (CD)

# 2. Floppy
#C 3. Hard Disk
#< 4. Magnetic Tape

Question ID : 402817232
Status : Answered
Chosen Option : 4

Q.5 F=fafm & ¥ s 39T o3 (RB9) ¥ &3 (Reg, ¥efT, o1 7& 39 #% o Fey) Fews &
e fram ST ogwaT 27

Ars o1 OCR (311E13m)
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X 2. OMR (HTTHNR)

X 3 MICR (TH3TSHI3T)
x4. m a;}g

Question ID : 402817234
Status : Answered
Chosen Option : 4

Section : Estimating,Costing & valuation & Surveying

Q.1 A building owner receives an annual rent of ¥1.00,000. Total annual cost of repairs is T15.000. The capitalised value of
the building if the rate of interest is 5% per annum is:

Ans X 1. 34,250
v 2 78.50,000
< 3. ¥17.00,000
< 4. 323,00,000

Question ID : 402817240
Status : Answered
Chosen Option : 3

Q2 The cross staff is used for:
Ans X 1. Levelling

< 2. Measuring distance

o' 3. Setting out right angles

< 4. Measuring acute angle

Question ID : 402817246
Status : Answered
Chosen Option : 3

Q.3 The shuttering quantity required for the trapezium portion of a square footing shown in the figure is:

S50cm

Square footing with trapezium
portion

2.0m
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Ans X 1. 4.532 cm?
V2 4532 m2

< 3 25064 cm?
K4 1.132m2

Question ID : 402817238
Status : Answered
Chosen Option : 2

Q4 The angle between true meridian and magnetic meridian is termed as:
Ans x 1. Di}]
/< 2. True bearing

/< 3. Local attraction
v % Declination

Question ID : 402817247
Status : Answered
Chosen Option : 4

Q3 The purpose of Alidade in plane table surveying is:
Ans X 1. eliminating parallax

< 2. levelling the plane table

/< 3. centering

' 4. sighting to target points

Question ID : 402817249
Status : Answered
Chosen Option : 4

Q.6 The minimum number of satellites required for precise position determination is:

Ans ?(1_ 10
V24
X3 1
K43

Question ID : 402817260
Status : Answered
Chosen Option : 2

Q.7 The curve provided to accomplish gradual transition from tangent to circular curve is termed as:

Ans X 1. Complex curve

' 2. Transition curve

< 3. Summit curve
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/X 4. Reverse curve

Question ID : 402817255
Status : Answered
Chosen Option : 2

Q8 The unit of measurement for 2 cm thick damp proof course (DPC) is:
Ans 3 1. Square centimetre

+ 2. Square metre

< 3. Running metre

# 4. Cubic metre

Question ID : 402817236
Status : Answered
Chosen Option : 2

Q-9 In permanent adjustment of levels, two peg test is done to correct or adjust:
Ans X 1. Level tube

/< 2. Cross-hair ring and Line of collimation both
/< 3. Cross-hair ring

' 4 Line of collimation

Question ID : 402817258
Status : Answered
Chosen Option : 4

Q.1 An old building has been purchased by a person at a cost of T30000 exeluding the cost of the land. Caleulate the amount
0 of annual sinking fund at 4% interest assuming the future life of the building as 20 years and the scrap value of the
building as 10% of the cost of purchase.

Ans of 1. 907.20
X 2 55525
X 3 T1028.37
# 4 F1500

Question ID : 402817241
Status : Answered
Chosen Option : 3

1 The maximum permissible tolerance in a 20 m chain is:

Ans 5 1. £10 mm
v 2 L5 mm
X 3 £20 mm
X 4 =15 mm

Question ID : 402817245
Status : Answered
Chosen Option : 2
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Qz-1 The horizontal distance between two points on two consecutive contours is known as:
Ans X 1. Contour interval

' 2. Horizontal equivalent

7< 3. Horizontal equivalent and Contour interval both

< 4. Contour elevation

Question ID : 402817257
Status : Answered
Chosen Option : 2

Q' 1 1 acre equals 100 m? and 100 hectare equals 1 km?, then 1km? equals __ m?.
Ans  of 1. 10,00.000

< 2. 1,00,000

/5 3. 1,000

X 4. 10,000

Question ID : 402817244
Status : Answered
Chosen Option : 1

Q.1 The multiplying constant of tacheometric instrument is 100 and the staff is held vertically. If the staff readings at point
4 ‘A'are 1.36, 1.915, 2.47 respectively and the measured vertical angle is 10°30’, what is the distance between instrument

station and point A7
Ans of 1107 m
X2 90m
X3 150m
X 4 168 m
Question ID : 402817252
Status : Answered
Chosen Option : 1
Q.1 In determining the area of the curved boundary rule is used to get accurate results.
5

Ans o 1. Simpson’s
# 2. mid-ordinate
X 3. average ordinate

< 4. trapezoidal

Question ID : 402817239
Status : Answered
Chosen Option : 1

Q.1 Calculate (to the nearest integer) the length of the curve of 15 chains radius with a deflection angle of 50°30', when the
6 length of chain is 20 m.

Ans X' 1. 250 m

Free Downloaded From - www.exammix.com



Visit - www.exammix.com & Download : All Shift Previous Question Papers (Hindi & English)

v 2 264m
< 3. 270m
< 4 300m

Question ID : 402817253
Status : Answered
Chosen Option : 2

Q.1 An observer standing on a signal post between two forts situated in a straight line sees the top of both the forts, If the
7  signal post acts as point of horizon, what is the distance between two forts, if fort A and B are 3 km and 5 km above the
sea level respectively?

Ans < 1. 580 km
#2380 km
< 3. 280 km
v 4 480 km

Question ID : 402817250
Status : Answered
Chosen Option : 2

Q.1 The wavelengths at which electromagnetic radiations are partially or wholly transmitted through atmosphere are known
g as:

Ans X 1. Energy packers
/< 2. Atmospheric doors
/< 3. Absorption wavers
« 4. Atmospheric windows

Question ID : 402817259
Status : Answered
Chosen Option : 1

Q.1 The process of turning the telescope in vertical plane through 180 degrees about trunnion axis is termed as:
9

Ans 3 1. Centering
#< 2. Change face
< 3. Swinging
' 4 Transiting

Question ID : 402817248
Status : Answered
Chosen Option : 3

Q.2 What are the units of measurement of distance according to Standards of Weights and Measures Act, 19567
0

Ans & 1. Yards and feet
/< 2. Inches and feet
& 3. Poles and chains
v 4 Metre and centimetre
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Question ID : 402817243
Status : Answered
Chosen Option : 2

@2 The anallactic lens provided in a tacheometer is a:

Ans X 1. Convex and concave lens
/< 2. Concave lens
V' 3. Convex lens

< 4. Plane lens

Question ID : 402817251
Status : Answered
Chosen Option : 1

Q.2 A circular curve of radius R connects two points of tangent. What is the length of the tangent if the angle of deflection is 30°?

2

Ans X 1. 0.78R
X 2 0.115R
X 3. 0.58R
v 4 027R

Question ID : 402817254
Status : Answered
Chosen Option : 3

Q?;z Select the correct statement, from the options. with respect to contouring.

Ans J1_

The contour interval does not depend on the nature of ground

/< 2. The contour interval on a map is not constant

p g3

A closed contour line with one or more higher ones inside represents a valley

7< 4. The ground slope can be determined using contours

Question ID : 402817256
Status : Answered
Chosen Option : 4

Q.2 The method of measuring approximate distance between two points by counting the number of paces between them is
4 termed as:

Ans 2 1. Chaining
X 2. Trigonometric levelling
X 3. Tachometric survey
o 4 Pacing

Question ID : 402817242
Status : Answered
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l Chosen Option : 4
Q.2 In the steel reinforcement calculation for RCC, the additional length for two 45° bent-ups in reinforcing bars is:
5

Ans x 1.

(1 — sin459) times the total depth of beam or slab minus bottom and top cover
X2

Sin 45° times the length of distance between the centre of the upper and lower arms of the bent up bars
X

0.84 times the total depth of beam or slab minus bottom and top cover

v 2

0.42 times the length of distance between the centre of the upper and lower arms of the bent up bars

Question ID : 402817237
Status : Answered
Chosen Option : 3

Section : Discipline

Q1 Identify the INCORRECT statement among the below mentioned statements.

Ans x 1.
The number of unit hydrographs for a given basin is theoretically infinite.

/< 2. The rain during specified duration is called unit storm.

v 3

The time required by rain water to reach the outlet of drainage basin is generally called as time of overland flow.

p

The specified duration of unit hydrograph is called unit duration.

Question ID : 402817297
Status : Answered
Chosen Option : 2

Q.2 Workability of concrete is measured in a conerete lab by compaction factor test. If the partial compacted concrete
weight after deducting empty weight of cylinder = 11.4 kg and fully compacted concrete weight after deducting empty
weight of eylinder = 11.98 kg, determine compaction factor value.

Ans X 1. 11.69
X 2058
V'3 0.95
X 40.86

Question ID : 402817298
Status : Answered
Chosen Option : 3

Q.3 The clay mineral responsible for swelling property in black cotton soil is:
Ans X 1. Kaolinite

/< 2. Halloysite

X 3 Illite
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+ 4 Montmorillonite

Question ID : 402817269
Status : Answered
Chosen Option : 4

Q4 Which of the following is a shallow foundation?

Ans - 1. Pile foundations
& 2. Well foundation
' 5 Raft foundation
/< 4. Pier foundation

Question ID : 402817267
Status : Answered
Chosen Option : 3

Q5 YWhich of the below is the desired policy of the manometric fluid?
Ans X 1. Low surface tension

< 2. Low density

3. High density

#< 4. High surface tension

Question ID : 402817274
Status : Answered
Chosen Option : 3

Q.6 The sedimentation analysis for particle size distribution is adopted for the soil particles that are finer than:
Ans - X 1. 625 micron

# 2. 425 micron

v 3. 75 micron

X 4 47.5 micron

Question ID : 402817262
Status : Answered
Chosen Option : 3

Q7 At shrinkage limit, the degree of saturation, in percentage, of soil is:
Ans 3 1. always less than hundred

< 2. always zero

' 3 equal to hundred

/< 4. less than hundred

Question ID : 402817261
Status : Answered
Chosen Option : 1
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@8 In an ogee-shaped spillway. the discharge is proportional to :
Ans o 1. gql.5
X 2 03
X3 s
X4+ H

Question ID : 402817287
Status : Answered
Chosen Option : 2

Q.9 A reservoir with a surface area of 300 ha has a water temperature of 30°C. humidity of 50%, wind velocity of 12 kmph
one metre above the ground, and mean barometer reading of 750 mm mercury. Calculate the daily evaporation using
Meyer’s formula.

Ans  of 1.11.66 mm
X 2. 12.66 mm
< 3 13.66 mm
X 4.10.66 mm

Question ID : 402817296
Status : Answered
Chosen Option : 1

Q.1 A hydrograph of direct runoff due to 1 cm effective rainfall over a catchment for unit duration is called:
0

Ans 1. Runoff hydrograph
' 2. Unit hydrograph
/< 3. Direct Runoff hydrograph
< 4. Storm hydrograph

Question ID : 402817295
Status : Answered
Chosen Option : 2

Q.1 Trigation water conveyed to the land by means of gravity flow indicates which of the following type of irrigation?
1

Ans X 1. Sprinkler irrigation
< 2. Lift irrigation
#< 3. Drip irrigation
« 4. Flow irrigation

Question ID : 402817276
Status : Answered
Chosen Option : 4

Q.1 In a gravity dam, the total force due to wave pressure acts at the height of above still water level.
2

Ans 3 1. 0.665 hy,
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v 2 0.375 hy,
X 3 0.935h,,
X 4. 0.500 hy,

Question ID : 402817285
Status : Answered
Chosen Option : 2

Q; The canal aligned on the natural watershed line is called:

Ans 3 1. Side slope canal
' 2. Watershed canal

/< 3. Contour canal
< 4. Free canal

Question ID : 402817280
Status : Answered
Chosen Option : 2

Q.1 A storm with 150 mm precipitation produces a direct runoff of 8.7 cm. with incremental hourly rainfall values being
4 06,135 2.25 3,45, 2.7, 2.4 1.5 and 0.75 cm/hr. Estimate the @ index of the storm.

Ans 2 1. 0.725 ecm/hr
v 2. 0.925 cm/hr
X 3 0.625 cm/hr
X 4. 0.825 cm/hr

Question ID : 402817288
Status : Answered
Chosen Option : 2

Q! The reason for adding gypsum in cement is:

Ans 1. To increase the heat of hydration

v 2. To avoid flash set
< 3. To increase the rate of hydration

X 4 To decrease the soundness of cement

Question ID : 402817289
Status : Answered
Chosen Option : 2

QA1
6

Ans (1_ 57
X290
X396
X 4 6.8

For pure cohesive soil, the value of bearing capacity factor (Nc) is:
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Question ID : 402817265
Status : Answered
Chosen Option : 3

% @iw Hr wEer T T T AR T o AT I 2
A AR (FETTee) e

X 2. FAFTAT FET

A5 gOa wEe

X 4 SfrTTeeT wEer

Question ID : 402817278
Status : Answered
Chosen Option : 1

Q.1 Water is released at the rate of 12 cumec at the head of a canal. If duty at the field is 1250 hectare/cumec and loss of
8 water in transit is 25%, find the area of land that can be irrigated.

Ans 2 1. 12250 ha
#< 2. 9250 ha
v 5 11250 ha
#< 410250 ha

Question ID : 402817279
Status : Answered
Chosen Option : 3

Q.1 An irrigation canal carries a discharge of 5 cumec. Assuming N =0.0225. m =1, § = 0.2 m/km, calculate the mean
9 velocity of flow by using Kutter’s formula.

Ans  of 1. 0.56 m/sec
< 2. 0.66 m/sec
< 3.0.26 m/sec
< 4. 0.76 m/sec

Question ID : 402817286
Status : Answered
Chosen Option : 1

Q.2 A conical tube of length 2 m is fixed vertically with its smaller end upwards. The velocity of the flow at the smaller end
0 is 5 m/s while at the lower end it is 2 nv's. The pressure head at the smaller end is 2.5 m of liquid. The loss of head in the

2
tube is % What will be the pressure head at the lower end if the flow occurs in the downward direction?
g

Ans  of 1. 5407 m of fluid
2. 18.337 m of fluid
< 3.13.427 m of fluid
< 4. 8.325 m of fluid

Question ID : 402817275
Status : Answered
Chosen Option : 1
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Q.2 During design of Raft foundation according to IS code, the maximum settlement in sand and hard clay for reinforced
1 concrete structures is:

Ans 1. 40 mm
/< 2. 90 mm
'3 75 mm
< 4 65 mm

Question ID : 402817299
Status : Answered
Chosen Option : 1

Q2-2 The variation in the volume of a liquid with the change of pressure is called ifs:

Ans X 1. Viscosity
' 2. Compressibility
/< 3. Surface tension
X 4. Capillarity

Question ID : 402817270
Status : Answered
Chosen Option : 2

Q.2 AsperIS 10262-2009. the maximum water content to be taken for concrete mix design. per cubie metre of concrete, for
3 nominal maximum size of 10 mm is:

Ans 1. 225 litre
< 2. 165 litre
#3186 litre
W 4 208 litre

Question ID : 402817290
Status : Answered
Chosen Option : 1

Q.2 The force exerted by a static fluid on a vertical, horizontal or an inclined plane surface that is immersed depends on the:
4

Ans 1. density of the liquid and area of the immersed surface
/< 2. area of the immersed surface
/< 3. density of the liquid only
v 4

density of the liquid. area of the immersed surface and depth of the centre of gravity of the immersed surface

Question ID : 402817272
Status : Answered
Chosen Option : 1

Q.2 2 g gge o '
o An isohyet is a line joining places of:

Ans X 1. unequal rainfall
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+ 2 equal rainfall
7< 3. unequal snowfall
< 4. equal snowfall

Question ID : 402817292
Status : Answered
Chosen Option : 2

Q.2 The minimum length to diameter ratio of the rock sample necessary to conduct Uniaxial Compressive Strength test,
6 without applying any correction factor, is:

Ans X 1. 1.9
X 21
v 2
X415

Question ID : 402817266
Status : Answered
Chosen Option : 4

°7'2 For a three-phase soil system, the value of percentage air voids:
Ans 1. is always zero

< 2. is always hundred

/< 3. could be anything above hundred

v 4. lies between zero and hundred

Question ID : 402817263
Status : Answered
Chosen Option : 4

%2 Considering the compaction curve, the soil in the wet of optimum zone has:

Ans  of 1 dispersed structure
X 2. flocculated structure

#< 3. more permeability than in dry of optimum zone

< 4 more shear strength than in dry of optimum zone

Question ID : 402817264
Status : Answered
Chosen Option : 4

Q.2 A flow net (per metre length) gives Ny= 3 and Ny = 30 for a net head of 10 m. Calculate the discharge if K =1 x 108

9 misec.

Ans 1. 0.004 lps
X 2. 0.002 Ips
7< 3.0.001 Ips
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W 4 0.003 Ips

Question ID : 402817284
Status : Answered
Chosen Option : 3

@3 The ST unit of kinematic viscosity is:
Ans X2

X 2 m3/s2

< 3. kg/m-s

v mis

Question ID : 402817271
Status : Answered
Chosen Option : 4
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Question ID : 402817291
Status : Answered
Chosen Option : 3

Q3 s ; : “
5 The Bligh’s creep coefficient for light sand and mud is:

Ans X 1. 25
X210
v 3 18
X 420

Question ID : 402817283
Status : Answered
Chosen Option : 3

%3 As per IS 10430-2000, the range of rugosity coefficient of a brick-tile-lined canal is:

Ans 1. 0.001-0.0013
v 2. 0.018-0.020
< 3. 0.00001-0.0002
X 4 0.18-0.20
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Question ID : 402817282
Status : Answered
Chosen Option : 2

Q.3 Calculate the hydraulic mean radius using Manning’s equation for a trapezoidal channel to carry 200 cumec discharge
4 laid at a slope of 30 em/km with side slope 1.5 : 1 at flow velocity of 2 m/sec. Take rugosity factor of 0.017.

Ans X' 1.2.07m
V2 275m
X3 157m
X 4 375m

Question ID : 402817300
Status : Answered
Chosen Option : 1

Q5-3 Which of following pile types is typically used in water front structures?
Ans 1. Anchor pile

X 2. Tension pile

/< 3. Compaction pile

o' 4 Fender pile

Question ID : 402817268
Status : Answered
Chosen Option : 1

Q.3 As per the ‘bandhara irrigation scheme’. the discharge formula used for a bandhara weir is:
6

Ans X1 171 H2S Cumec
v 2 171 H Cumec
X3 171113 Cumee
#4270 1 Cumee

Question ID : 402817281
Status : Answered
Chosen Option : 1

Q.3 For a furrow slope of 0.3%, the net depth of water application for clay soil should not be less than:

7

Ans 1. 500 mm
' 2. 300 mm
< 3. 300 mm
< 4. 200 mm

Question ID : 402817277
Status : Answered
Chosen Option : 2
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Q.3 The rainfall figures for successive 30-minute intervals are 35, 40, 120, 85, 45, 45 and 30 mm/hr. If the © index is
8 35mun‘hour. determine W-index.

Ans - 2 1. 54.3 mm/hour
v 2. 34.3 mm/hour
# 3. 24.3 mm/hour
< 4. 443 mm/hour

Question ID : 402817293
Status : Answered
Chosen Option : 2

Q.3 The reading on the pressure gauge fitted on a vessel is 34 bar. The atmospheric pressure is 1.03 bar and the value of g is
9  9.81 m/s’. The absolute pressure in the vessel is:

Ans  2<C 1. 23.89 bar
v 2. 35.03 bar
X 34403 bar
X 4. 3297 bar

Question ID : 402817273
Status : Answered
Chosen Option : 4

Q64 The rate at which a soil is capable of absorbing water is called:
Ans X 1. Infiltration

< 2. Filtration capacity

/< 3. Filtration

'+ Infiltration capacity

Question ID : 402817294
Status : Answered
Chosen Option : 4
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